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MATH 151 - notes, - Lenhart

Correlation coefficient p = —\/-SS?“;——S—”; )

Sy =3 5 — D)t — )

i=1
Sum of the residuals squared (squaring the vertical distance from the
data points to the y-values on the linear regréssion line)

n
RES =Y (v — )”
i=1
Total Sum of Squares (TSS) of the data set

n

TSS = Spy =S (1 — 5)°,

i=1

Sum of Squares of the Regression (SSR)

w
SSR =Y (% — %)%,
i=1

where 7; is the point on the regression line that corresponds with ;.

TSS = RES + SSR and TSS > SSR.

Coefficient of determination
__ S8R
= 5"

Numerator measures the variation of the y-values obtained by the linear
regression line from the mean of the y-data points. Denominator measures
the variation of the y-data values from the mean of the y-data points.

R?<1

R2

R? ~ 1 means HIGHLY correlated pts.; linear regression line is a good
fit

R2 - p2
If R? = .72 from a set of data points, we say that the linear regression
line explains 72% of the variation in the data from the mean.
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